PERSONA- 1 PERSONA - 2 AR - A bb - b oo -0 e = A be - b Ab - Ab
AR - A A - A 100% 0 0 0 0 0
A - A bb -b 0 0 0 0 0 100%
A - A o6 -0 0 0 0 100% 0 0
AA - A Combinacion Ae A $0% 0 0 $0% 0 0
AA - A | Combinacion bo - b 0 0 0 $0% 0 $0%
AR - A Combinacion | Ab - AB $0% 0 0 0 0 $0%
bb - b AR - A 0 0 0 0 0 100%
bb - b bb -b 0 100% 0 0 0 0
bb - b o0 - 0O 0 0 0 0 100% 0
bb - b Combinacion Ae -A 0 0 0 0 $0% S0%
bb - b Combinacion be - B 0 $0% 0 0 $0% 0
bb - b Combinacion [ Ab = AB 0 S0% 0 0 0 $0%
oo - 0O AR - A 0 0 0 100% 0 0
oo - 0O bb -b 0 0 0 0 100% 0
oo - 0O o0 - 0O 0 0 100% 0 0 0
oo -0 Combinacion Ae -A 0 0 $0% $0% 0 0
oo -0 Combinacion be - B 0 0 $0% 0 $0% 0
o6 - O Combinacion | Ab - AB 0 0 0 $0% $0% 0
Ae - A Combinacion A=A 0% 0 0 S0% 0 0
Ae - A Combinacion bb -b 0 S0% 0 0 S0% 0
Ae- A Combinacion oo -0 0 0 $0% $0% 0 0
Ae - A Combinacion e A 25% 0 2% S0% 0 0
Ae - A Combinacion bo = B 0 0 2% 2% 2% 2%




Ae - A Combinacion Ab - Ab 8% 0 0 18% 18% 18%
be - B Combinacion AA-=A 0 0 0 $0% $0% 0
be - B Combinacion bb -b 0 S0% 0 0 S0% 0
bo - B Combinacion ©6 - 0 0 0% 0 $0% 0
be - B Combinacion Ae = 0 0 2% 2% 2% 2%
be - B Combinacion bo - B 0 28% 28% 0 $0% 0
be - B Combinacion Ab - AB 0 28% 0 28% 28% 25%
Ab - Ab Combinacion AA-=A 0% 0 0 0 0 $0%
Ab - Ab | Combinacion bb -b 0 S0% 0 0 0 S0%
Ab - Ab Combinacion ©6 - 0 0 0 $0% 0% 0
Ab - Ab | Combinacion e -A 25% 0 0 25% 25% 25%
Ab - Ab | Combinacion be - b 0 5% 0 25% 25% 5%
Ab - Ab | Combinacion | AB - Ab 5% 5% 0 0 0 S0%




